Page 1 of 1 Invoice No.: 1316 Date: 1-Jul-2015

1964 Porsche 356C Carrera 2 Cab

\$1,776.56

VIN: 159548 LIC: N/A

# **INVOICE**

**Total Amount** 

LABOR				Amount	
See Sublet section.				\$0.00	
PARTS					
Item	Part Number	Qty	Price	Total	Shipping
N/A					
Sublet Charges				Total	Shipping
Load and pick up car in Incline Vi Unload vehicle and place into veh	•		ty, CA.	\$750.00	
Fuel for transport Bridge Toll - Benica				\$84.15 \$25.00	
Travel expenses flight, taxi, parki	ng & food.			\$917.41	
Recommendations and Techni Hardtop with the electric sunroof Jim's shop to have the paint chips the vehicle.	is at Jim Rinker's sho	•	-		
Sub Totals Parts Sales Tax @ 9.0% Labor Sublet Shipping CA Environmental Fees				\$0.00 \$0.00 \$0.00 \$1,776.56 \$0.00	

Page 1 of 2 Invoice No.: 1378 Date: 1-Oct-2016

1964 Porsche 356C Carrera 2 Cab

Amount

\$0.00

VIN: 159548 LIC: N/A

# **INVOICE**

**LABOR** 

				7 11110 1111	
See Sublet section.				\$0.00	
PARTS					
Item	Part Number	Qty	Price	Total	Shipping
NGK B7ES Standard Plug NGK B8EG Competition Plug Battery, 12V Special Order Original Porsche 356C Carrera 2 Owner Manual	NGK 1111 NGK 3430 DEB 9A75DT	8 8 1 1	\$2.27 \$3.57 \$181.67 \$1,100.00	\$18.16 \$28.56 \$181.67 \$1,100.00	
Sublet Charges				Total	Shipping
Gretener Prototype Engineering: Load and pick up hard top at Rike Unload hard top and place into wa	•			\$400.00	
Global Registry: DMV Fees paid in advance for cli Generate new duplicate title in Mo Verification of serial number (VIN	ontana.	Charge		\$45.00 \$165.00	
Special walk through Title in Sacr California Certificate of Title issue	amento.		at DMV.	\$345.00	
Fedex UPS Shipping				\$26.13 \$24.00 \$16.20	

Travel expenses - Food, lodging, transportation, parking, tolls, etc. to vendors.

Page 2 of 2
Invoice No.: 1378

Page 2 of 2
Date: 1-Oct-2016

#### **Recommendations and Technicians Notes**

Hardtop with the electric sunroof is at the warehouse. The vehicle will go to Jim's shop to have the paint chips repaired.

Urs Gretener will restore the metal work on the hard top and fit to the vehicle.

# **Sub Totals**

Parts	\$1,328.39
Sales Tax @ 9.0%	\$119.56
Labor	\$0.00
Sublet	\$1,021.33
Shipping	\$0.00
CA Environmental Fees	\$0.00
Total Amount	\$2,469.28

Page 1 of 1 Invoice No.: 1424 Date: 15-Nov-2016

1964 Porsche 356C Carrera 2 Cab

\$544.79

VIN: 159548 LIC: N/A

# **INVOICE**

**Total Amount** 

LABOR				Amount	
See Sublet section.				\$0.00	
PARTS					
Item	Part Number	Qty	Price	Total	Shipping
Bosch Fuel Filter Carburetor Kits Carburetor Cleaner Dual Foot Fuel, 100 Octane Race Gas	91 01 Solex BER 0117C TRF 17-525 Sunoco 110	1 2 2 1 1	\$18.44 \$65.74 \$4.27 \$10.17 \$55.95	\$18.44 \$131.48 \$8.54 \$10.17 \$55.95	
Sublet Charges				Total	Shipping
Vehicle is hard to start and doesn't	idle or run well at lo	w rpm.			
Great Marques: Disassemble both Solex carburetor Make sure all passageways are cle Clean carburetors and install new g	ear.			\$300.00	
Travel expenses - Food, lodging, tr	ansportation, parkin	g, tolls, etc.	to vendors.	\$0.00	
Recommendations and Technici Urs Gretener to restore the hardtop		nroof.			
Sub Totals Parts Sales Tax @ 9.0% Labor Sublet Shipping CA Environmental Fees				\$224.58 \$20.21 \$0.00 \$300.00 \$0.00 \$0.00	

Page 1 of 2 Invoice No.: 1444 Date: 30-Jan-2017

1964 Porsche 356C Carrera 2 Cab

\$800.00

VIN: 159548 LIC: N/A

#### **INVOICE**

LABOR Amount
See Sublet section. \$0.00

#### **PARTS**

Item	Part Number	Qty	Price	Total	Shipping
Air Cleaner top Bolts, 356 Air Cleaner Washers, Flat Fuel, 100 Octane Race Gas CAD-1 Plating - Air Cleaner Bolts &	6x100MMx140MM 6MM Flat Sunoco 110 Washers	25 25 1 1	\$3.00 \$0.50 \$55.95 \$75.00	\$75.00 \$12.50 \$55.95 \$75.00	
Sublet Charges				Total	Shipping

Vehicle is hard to start and doesn't idle or run well at low rpm.

Know-TEQ (Craig Kenney):

Fouled spark plugs.

Remove air cleaners, lower side pods, both carburetors, cross linkage, both distributors, distributor caps, wiring looms and all spark plugs.

Replace with NGK spark plugs.

Wires are incorrect. They are over-insulated and can't get a firing pulse in any timing gun.

Had to make two faux wires for cylinder #1 in order to get a timing pulse. Remove the faux wires at the end of the job.

Re-install carburetors that were gone through by Rick Thiele with new base seals.

Chase all damage in carburetor tops (new bolts), plugs, distributors, fiddle with the tuning, wiring looms, etc.

Struggle with jetting the carburetors to sea level.

The carburetors had been set up to run at 6000ft (Incline Village, NV).

\$1,061.39

Invoice No.: 1444 Date: 30-Jan-2017

Car starts easily when cold. Struggles until heat gets in. Hold a "fast idle" with rpm at approximately 1200 - 1300 rpm (no higher) for at least two - three minutes and then drop to 1000 - 1100 rpm.

Have Rick Thiele (Great Marques) flush, clean and inspect the Solex 40 P11/4 carburetors. They were crud filled, usual jet ports clogged, etc. We spun up the distributors.

While "ok" for a street car the lower distributor does have some erratic action at idle and likey has a worn pivot pin and phenolic "bump pad". This can be seen only using a timing gun and is illustrated with occassional erratic 3 - 4 degree movement of idle speed ignition firing in both directions of advance and idle. There is no erratic action at the much more important higher rpm ranges (1500 - 2400 rpm max advance range.)

Shipping - UPS	\$23.83
----------------	---------

Travel expenses - Food, lodging, transportation, parking, tolls, etc. to vendors. \$0.00

#### **Recommendations and Technicians Notes**

The shocks are leaking. Determine if they can be rebuilt.

The tires are over 15 years old. They need to be replaced.

The vehicle will need to go to Jim Rinker's shop to have the paint chips repaired and hard top painted and fitted to the vehicle.

Urs Gretener to restore the hardtop.

Vehicle is at Great Marques having a major service performed.

#### **Sub Totals**

**Total Amount** 

Parts	\$218.45
Sales Tax @ 8.75%	\$19.11
Labor	\$0.00
Sublet	\$823.83
Shipping	\$0.00
CA Environmental Fees	\$0.00

Page 1 of 3 Invoice No.: 1453 Date: 15-Sep-2017

1964 Porsche 356C Carrera 2 Cab

VIN: 159548 LIC: N/A

# **INVOICE**

**LABOR** Amount

See Sublet section. \$0.00

# **PARTS**

Item	Part Number	Qty	Price	Total	Shipping
Sump Gaskets		2	\$3.50	\$7.00	
Brake Fluild, pints		2	\$6.95	\$13.90	
Starter Boot		1	\$8.95	\$8.95	
Engine Oil	20W-50	8.5	\$12.95	\$110.08	
Environmental Charges		1	\$6.50	\$6.50	
Pirelli Cinturato 165VR15	165VR15 CN36 N4	5	\$233.10	\$1,165.50	
Freight	Freight	1	\$81.00	\$81.00	
Shock Parts:					
Cleaning Solvents, Consumables	Sundry	1	\$6.95	\$6.95	
Piston 27mm	70.12.00.034.4	4	\$18.91	\$75.64	
Piston Band, PTFE, 27mm	15.12.02.009.1	4	\$3.09	\$12.36	
Res. Tube Seal Nut Type 41mm	80.25.00.023.0	4	\$17.64	\$70.56	
Guide Assembly 41mm	80.22.20.012.0	4	\$60.16	\$240.64	
Inner Cylinder 80 Series 27mm	70.17.10.410.0	2	\$32.19	\$64.38	
Footvalve, 101.1 lbs@13in/s	80.14.04.003.1	4	\$18.79	\$75.16	
Piston Rod Solid 453mm	12.10.14.453.0	4	\$70.44	\$281.76	
Sandblast, prime & paint per dampe	er	4	\$50.00	\$200.00	
Specialized Damper Paint		1.6	\$8.00	\$12.80	
Fixing Eye for 0	70.52.03.008.0	8	\$5.34	\$42.72	
Bushing Eye Rubb	13.23.34.016.1	8	\$2.27	\$18.16	
80 Series Dust Bell	80.28.00.007.0	4	\$8.95	\$35.80	
Freight	Freight	1	\$38.35	\$38.35	

\$675.00

Date: 15-Sep-2017 Invoice No.: 1453

**Sublet Charges** Total Shipping

Perform major service.

**Great Marques:** 

\$675.00 Change engine oil and clean the filter.

Flush and change the brake fluid.

Flush and change the transmission fluid.

Install the starter cable boat.

Check battery.

Shocks are leaking.

Determine if the original Porsche Type 4 shocks, built by Koni, can

be rebuilt and appropriate parts found.

Remove shocks and wheels.

Send out the shocks to be rebuilt by the authorized Koni rebuilder.

Reinstall rebuilt shocks and test.

Right front wheel is bent.

The tires are over 15 years old. They need to be replaced.

Install five new tires and move the spare wheel to the right front and move

the right front wheel to become the spare.

Performance Shock (PSI):

Rebuild original Porsche/Koni Type 4 shock set.

Original OEM Koni shocks as received.

Mounting eyes do not have replacable rubber.

On inspection found rods and shock internals worn.

Shocks had been rebuilt incorrectly previously with incorrect seals

and guides being used.

Shocks fully inspected and reassembled with original Koni parts and seals.

New mounting eyes welded on which use current Koni shock mounting

rubber.

Pistons all upgraded to current 27mm standard from 25mm which is

no longer supported by Koni.

Replace original piston shafts and re-weld dust cover and mounting eyes. \$337.50

Mount and balance five new tires. \$150.00

Shipping \$28.75

\$0.00 Travel Expenses - Food, lodging, transportation, parking, tolls, etc. to vendors.

Page 3 of 3 Date: 15-Sep-2017 Invoice No.: 1453

# **Recommendations and Technicians Notes**

N/A

# **Sub Totals**

Parts	\$2,568.21
Sales Tax @ 9.25%	\$237.56
Labor	\$0.00
Sublet	\$1,866.25
Shipping	\$0.00
CA Environmental Fees	\$6.50

\$4,678.51 **Total Amount** 

Page 1 of 2 Invoice No.: 1662 Date: 6-Aug-2020

1964 Porsche 356C Carrera 2 Cab

VIN: 159548 LIC: N/A

## **INVOICE**

LABOR Amount
See Sublet section. \$0.00

## **PARTS**

Item	Part Number	Qty	Price	Total	Shipping
Brad Penn Engine Oil	20W50	9	\$11.50	\$103.50	
Sump Gaskets		1	\$6.00	\$6.00	
Brake Fluid		1	\$19.00	\$19.00	
Solex Carburetor Part		1	\$100.00	\$100.00	
Spark Plug		8	\$3.65	\$29.20	
Air Cleaner Adapter		2	\$125.00	\$250.00	
Distributor Plate		1	\$75.00	\$75.00	
Points, (Good) Used		1	\$100.00	\$100.00	
Weber 40 IDF Carburetors	18.950.160	2	\$324.93	\$649.86	
Porsche 356 Adapter Plates	99.004.050	1	\$91.77	\$91.77	
Choke, 40 IDF	71.506.340	4	\$17.16	\$68.64	
Main Jet	73.401.130	4	\$3.70	\$14.80	
Air Corrector Jet	77.401.175	4	\$3.70	\$14.80	
Adjustable Throttle Link 5 11/16" to 6 1/16"	75.500.150	2	\$19.53	\$39.06	
Adjustable Throttle Link 7 11/16" to 8 1/16"	75.500.200	2	\$19.53	\$39.06	
Emulsion Tube Holder	52.580.001	4	\$10.13	\$40.52	
Freight In	Freight	1	\$26.90	\$26.90	
Cadmium Plating	Plating	1	\$350.00	\$350.00	
Freight - Cad Plating	Freight	1	\$56.00	\$56.00	
Freight - Distributors	Freight	1	\$69.00	\$69.00	

Sublet Charges Total Shipping

Vehicle is hard to start and doesn't idle or run well at low rpm. Perform Annual Chassis/Fluid Service on Vehicle.

Invoice No.: 1662 Date: 6-Aug-2020

Ansite Inc. (Jim Ansite):

Remove carburetors. \$1,875.00

Remove exhaust side pipes.

Repair exhaust.

Lube and adjusted front end.

Perform engine oil change.

Installed and loaned an oil filter element.

Change spark plugs.

Perform a compression test and leak down test.

Flush and bleed brakes.

Diagnose and repair/rebuild distributors. \$1,280.00

Travel expenses (food, lodging, transportation, parking, etc.) to various vendors. \$0.00

#### **Recommendations and Technicians Notes**

The vehicle will need to go to Jim Rinker's shop to have the paint chips repaired and hard top painted and fitted to the vehicle.

Urs Gretener to restore the hardtop.

#### **Sub Totals**

Parts	\$2,143.11
Sales Tax @ 9.25%	\$198.24
Labor	\$0.00
Sublet	\$3,155.00
Shipping	\$0.00
CA Environmental Fees	\$0.00

Total Amount \$5,496.35

Page 1 of 2 Invoice No.: 1680 Date: 3-Sep-2020

1964 Porsche 356C Carrera 2 Cab

VIN: 159548 LIC: N/A

#### **INVOICE**

94063

(650) 364-7062

**LABOR** Amount

See Sublet section. \$0.00

#### **PARTS**

Item	Part Number	Qty	Price	Total	Shipping
Weber Carburetor Linkage Bracket	S	2	\$175.00	\$350.00	
Intake Manifold Washers and Hard	ware	1	\$65.00	\$65.00	
Carburetor Cross Bar Linkage & Ba	alls	1	\$200.00	\$200.00	
Intake Manifold Gasket		4	\$8.50	\$34.00	
Custom Intake Manifold	GPE	2	\$900.00	\$1,800.00	
Fan Belt		1	\$18.00	\$18.00	
Fuel Hose		2	\$12.00	\$24.00	

Sublet Charges Total Shipping

Vehicle is hard to start and doesn't idle or run well at low rpm. Perform Annual Chassis/Fluid Service on Vehicle.

Ansite Inc. (Jim Ansite):

Installed new Weber 40 IDF carburetors and adapter plates from \$3,125.00

Weber Carburetor Restoration (Pierce Manifolds).

Does not work as the deck lid on the cabriolet is too low.

New intake manifolds will be required to bring the height down.

Removed the sheet metal so new intake manifolds can be made.

Shimmed the engine deck lid as it was dragging on top.

Made new carburetor linkage.

Installed new fabricated intake manifolds.

Installed carburetors and linkage.

Installed repaired distributors.

Timed the distributors.

Installed all removed sheet metal.

Setup carburetor linkage.

\$1,125.00

Page 2 of 2
Invoice No.: 1680

Page 2 of 2
Date: 3-Sep-2020

Travel expenses (food, lodging, transportation, parking, etc.) to various vendors. \$0.00

#### **Recommendations and Technicians Notes**

Gretener Prototype Engineering custom fabricated the intake manifolds. The vehicle will need to go to Jim Rinker's shop to have the paint chips repaired and hard top painted and fitted to the vehicle. Urs Gretener to restore the hardtop.

#### **Sub Totals**

\$2,491.00
\$230.42
\$0.00
\$4,250.00
\$0.00
\$0.00

Total Amount \$6,971.42

Page 1 of 2 Invoice No.: 1710 Date: 6-Dec-2020

1964 Porsche 356C Carrera 2 Cab

VIN: 159548 LIC: N/A

#### **INVOICE**

LABOR Amount
See Sublet section. \$0.00

#### **PARTS**

Item	Part Number	Qty	Price	Total	Shipping
Abrasive and Sanding Materials Body Lead Work Supplies Undercoating and Primer 15mm ID Hose, per ft 15mm Straight Hose Fitting Hose Collar Welding Supplies	GPE-356-GTOH GPE-356-GTOSTF	1 1 1 6 4 4	\$32.00 \$46.00 \$10.00 \$38.00 \$95.00 \$15.00	\$32.00 \$46.00 \$10.00 \$228.00 \$380.00 \$60.00	
Welding Supplies		1	\$23.00	\$23.00	

Sublet Charges Total Shipping

Body repair / correction on nose section of vehicle.

Gretener Prototype Engineering: Removed front bumper, head lights, grills, horns, running lights, cross over oil lines, oiler coolers and cooler shrouds.

Removed paint on right front nose section.

Melted off lead work to expose damaged section on nose.

Fabricated new nose section and installed (welded).

Metal finish section and fit hood.

Lead work gap to hood and grill openings.

Metal finished section and fit hood.

Lead work gap to hood and grill openings.

Metal finished and sanded lead work.

Installed front bumper and checked gap.
Disassembled bumper trim and guards.
Removed paint on left side of on bumper joint.

\$3,105.00

Invoice No.: 1710 Date: 6-Dec-2020

Travel expenses (food, lodging, transportation, parking, etc.) to vendors. \$0.00

#### **Recommendations and Technicians Notes**

The vehicle will need to go to Jim Rinker's shop to have the paint chips repaired and hard top painted and fitted to the vehicle.

Urs Gretener to restore the hardtop.

## **Sub Totals**

Parts	\$779.00
Sales Tax @ 9.25%	\$72.06
Labor	\$0.00
Sublet	\$3,105.00
Shipping	\$0.00
CA Environmental Fees	\$0.00

Total Amount \$3,956.06

Page 1 of 2 Invoice No.: 1715 Date: 6-Jan-2021

1964 Porsche 356C Carrera 2 Cab

VIN: 159548 LIC: N/A

#### **INVOICE**

**LABOR** Amount

See Sublet section. \$0.00

**PARTS** 

Item Part Number Qty Price Total Shipping

N/A \$0.00

Sublet and Labor Charges Total Shipping

Body repair / correction on nose section of vehicle.

Gretener Prototype Engineering:

Cut bumper joint loose to reshape contour to follow \$2,025.00

left nose section gap.

Welded bumper and applied lead on bumper joint and

metal finished.

Primered and applied under coating on inside of new

nose section.

Disassembled oil coolers. Replaced all soft oil line hose \$1,080.00

sections and fittings.

Assembled coolers and installed to chassis.

Ran engine and checked for leaks.

Installed front bumper.

Travel expenses (food, lodging, transportation, parking, etc.) to various vendors. \$0.00

#### **Recommendations and Technicians Notes**

The vehicle will need to go to Jim Rinker's shop to have the paint chips repaired, paint the nose and bumper repairs, paint the hard top and fit to the vehicle.

Urs Gretener to restore the hardtop.

Page 2 of 2 Date: 6-Jan-2021 Invoice No.: 1715 **Sub Totals** Parts \$0.00 Sales Tax @ 9.25% \$0.00 Labor \$0.00 Sublet \$3,105.00 Shipping \$0.00 CA Environmental Fees \$0.00 \$3,105.00 **Total Amount** 

Page 1 of 2 Invoice No.: 1719 Date: 5-Feb-2021

1964 Porsche 356C Carrera 2 Cab

VIN: 159548 LIC: N/A

#### **INVOICE**

LABOR Amount
See Sublet section. \$0.00

#### **PARTS**

Item	Part Number	Qty	Price	Total	Shipping
Welding Supplies, Lead Solder Metal Supplies Abrasive & Sanding Supplies Expoxy Primter Kit	Lead Solder GPE Supplies GPE Supplies Primer	2 1 1 1	\$37.00 \$45.00 \$57.00 \$116.80	\$74.00 \$45.00 \$57.00 \$116.80	
Sublet Charges				Total	Shipping

Reutter Hardtop repair / correction / restoration.

The hard top is an original Porsche hard top with a sun roof with heavily rusted hard top frame and rails.

Gretener Prototype Engineering:

Disassemble the entire roof track system and mechanisms.

Pulled out sunroof panel and removed headliner.

Stripped paint on out side of roof and sunroof panel.

Dropped off hard top at sand blaster.

Primed inside of roof structure.

Fabricated left and right B pillar.

Fabricated C pillar inner and outer.

Fabricated rear window frame inner and outer.

Fabricated side window frame inner and outer skin.

Fabricated new rear roof drain tubes.

Fabricated main mounting brackets rear inner nut plates for

hold down bracket.

Fabricated rubber seal receiver channel for main seal.

\$9,990.00

Invoice No.: 1719 Date: 5-Feb-2021

Spot welded all inner structure and installed to main frame. Replaced front leading edge panel up to sun roof opening. Replaced inner channel to meet edge panel.

Travel expenses (food, lodging, transportation, parking, etc.) to various vendors. \$0.00

#### **Recommendations and Technicians Notes**

The hard top with the electric sun roof is in very bad shape. It requires extensive repairs and restoration. Then the vehicle and hard top will need to go to Jim Rinker to be painted and have the aluminum trim fitted.

#### **Sub Totals**

Parts	\$292.80
Sales Tax @ 9.25%	\$27.08
Labor	\$0.00
Sublet	\$9,990.00
Shipping	\$0.00
CA Environmental Fees	\$0.00

Total Amount \$10,309.88

Page 1 of 2 Invoice No.: 1727 Date: 5-Mar-2021

1964 Porsche 356C Carrera 2 Cab

VIN: 159548 LIC: N/A

#### **INVOICE**

LABOR Amount
See Sublet section. \$0.00

#### **PARTS**

Item	Part Number	Qty	Price	Total	Shipping
Brake Fluid Brake Line, Front	ATE Brake Line	1 2	\$16.20 \$27.80	\$16.20 \$55.60	)
Brake Line, Rear	Brake Line	2	\$31.00	\$62.00	
Sublet Charges				Total	Shipping

Reutter Hardtop repair / correction / restoration.

The hard top is an original Porsche hard top with a sun roof with heavily rusted hard top frame and rails.

Gretener Prototype Engineering:

Remove existing soft top from vehicle.

\$4,995.00

The soft top and hard top cannot be installed on the vehicle at the same time.

Fitted hard top roof to adjust fitment and prepped for final welding.

Metal finished outer skin (bump and file).

Applied lead on all welded and previously leaded areas and metal finished.

Removed dents on sunroof panel and metal finished.

Installed track rails.

Installed sunroof panel.

Inserted rubber seal on front and rear channels.

Final install and made some adjustments on locking tabs.

Found brake fluid leaks.

Replaced front and rear brake lines (soft lines).

Drained brake fluid and replaced with new fluid.

Bled brakes.

Sand blasting of various components.

\$320.00

Page 2 of 2
Invoice No.: 1727
Date: 5-Mar-2021

Travel expenses (food, lodging, transportation, parking, etc.) to various vendors. \$0.00

#### **Recommendations and Technicians Notes**

The vehicle and hard top will need to go to Jim Rinker to be painted and have the aluminum trim fitted.

# **Sub Totals**

Sales Tax @ 9.25% \$12	2.38
Labor \$0	0.00
Sublet \$5,315	5.00
Shipping \$0	0.00
CA Environmental Fees \$0	0.00

Total Amount \$5,461.18

Page 1 of 2 Invoice No.: 1736 Date: 16-Mar-2021

1964 Porsche 356C Carrera 2 Cab

VIN: 159548 LIC: N/A

#### **INVOICE**

**LABOR** Amount

See Sublet section. \$0.00

**PARTS** 

Item Part Number Qty Price Total Shipping

Metal Conditioner, Filler, Urethane Meza Paint 1 \$508.15 \$508.15

Primers and abrasives

Sublet Charges Total Shipping

Body repair / correction on nose section of vehicle.

Reutter Hardtop repair / correction / restoration.

The hard top is an original Porsche hard top with a sun roof with heavily rusted hard top frame and rails.

RinkerToys (Jim Rinker):

Disassemble quarter window and top latches. \$2,760.00

Send for chrome.

Fit sunroof components to test for proper function.

Adjust and detail as needed.

Prep hardtop for primer application

Minor details as needed.

The wood steering wheel is delaminating. Needs to be sent out for repair.

Enclosed vehicle and hard top transport from G.P.E. to Valley Center, CA. \$875.00

load and unload vehicle and parts.

Travel expenses (food, lodging, transportation, parking, etc.) to various vendors. \$0.00

#### **Recommendations and Technicians Notes**

The hard top with the electric sun roof is in very bad shape. It required extensive repairs and restoration.

The wood steering wheel is delaminating and needs to be sent out for repair.

Page 2 of 2 Date: 16-Mar-2021 Invoice No.: 1736

**Sub Totals** 

Parts	\$508.15
Sales Tax @ 9.25%	\$47.00
Labor	\$0.00
Sublet	\$3,635.00
Shipping	\$0.00
CA Environmental Fees	\$0.00

\$4,190.15 **Total Amount** 

Page 1 of 2 Invoice No.: 1740 Date: 1-Apr-2021

1964 Porsche 356C Carrera 2 Cab

VIN: 159548 LIC: N/A

#### **INVOICE**

**LABOR** Amount

See Sublet section. \$0.00

**PARTS** 

ItemPart NumberQtyPriceTotalShippingFreight for Sunroof Motor,<br/>Steering Wheel & ChromeFreight1\$60.56\$60.56

Sublet and Labor Charges Total Shipping

Body repair / correction on nose section of vehicle.

Reutter Hardtop repair / correction / restoration.

The hard top is an original Porsche hard top with a sun roof with heavily rusted hard top frame and rails.

RinkerToys (Jim Rinker):

Prime and block the hardtop for straightness. \$4,200.00

Sand nose panel and repair paint chips.

Fill, prime and block nose panel for straightness.

Sand the front bumper.

Fill, prime and block the front bumper for straightness.

The sunroof motor is for a 6V electrical system.

Ship sunroof motor out for 12V conversion.

Ship the steering wheel to Bruce Crawford for repairs.

Travel expenses (food, lodging, transportation, parking, etc.) to various vendors. \$0.00

#### **Recommendations and Technicians Notes**

The hard top with the electric sun roof is in very bad shape with heavily rusted hard top frame and reails. It requires extensive repairs and restoration. The wood steering wheel is delaminating and was sent out for repair.

Page 2 of 2
Invoice No.: 1740

Page 2 of 2
Date: 1-Apr-2021

# **Sub Totals**

Parts	\$60.56
Sales Tax @ 9.25%	\$5.60
Labor	\$0.00
Sublet	\$4,200.00
Shipping	\$0.00
CA Environmental Fees	\$0.00

Total Amount \$4,266.16

Page 1 of 2 Invoice No.: 1744 Date: 5-May-2021

1964 Porsche 356C Carrera 2 Cab

\$2,880.00

VIN: 159548 LIC: N/A

#### **INVOICE**

**LABOR** Amount

See Sublet section. \$0.00

**PARTS** 

ItemPart NumberQtyPriceTotalShipping9300 Black Urethane, DCX Hardener,1\$338.45\$338.45

DP Sealer and DP Reducer

Sublet and Labor Charges Total Shipping

Body repair / correction on nose section of vehicle.

Reutter Hardtop repair / correction / restoration.

The hard top is an original Porsche hard top with a sun roof with heavily rusted hard top frame and rails.

RinkerToys (Jim Rinker):

Finish preparing the hard top for paint.

Prime and block for straightness.

Apply first coat of paint in 9300 Black Urethane paint.

Prep for second coat.

Complete paint work on hard top.

Waiting for appointment with Autos International for headliner and trim.

Eurton Electric will be converting the electric sunroof motor to 12 volts.

Need to duplicate the quarter windows. Aircraft Windshield will perform this work.

Bruce Crawford will be repairing and refinishing the steering wheel.

Travel expenses (food, lodging, transportation, parking, etc.) to various vendors. \$0.00

Invoice No.: 1744 Date: 5-May-2021

#### **Recommendations and Technicians Notes**

The hard top with the electric sun roof is in very bad shape with heavily rusted hard top frame and reails. It requires extensive repairs and restoration. The wood steering wheel is delaminating and was sent out for repair.

#### **Sub Totals**

Total Amount	\$3,249.76
CA Environmental Fees	\$0.00
Shipping	\$0.00
Sublet	\$2,880.00
Labor	\$0.00
Sales Tax @ 9.25%	\$31.31
Parts	\$338.45

Page 1 of 2 Invoice No.: 1749 Date: 26-May-2021

1964 Porsche 356C Carrera 2 Cab

\$850.00

VIN: 159548 LIC: N/A

## **INVOICE**

<b>LABOR</b> Amount					
See Sublet section.				\$0.00	
PARTS					
Item	Part Number	Qty	Price	Total	Shipping
Fabricate Quarter Windows Chrome Latches 6V to 12V Conversion Parts	Fabricate Chrome	1 1 1	\$380.20 \$646.28 \$77.62	\$380.20 \$646.28 \$77.62	
Sublet and Labor Charges				Total	Shipping
Body repair / correction on nose section of vehicle. Reutter Hardtop repair / correction / restoration. The hard top is an original Porsche hard top with a sun roof with heavily rusted hard top frame and rails. The hard top is not original to this car.					
RinkerToys (Jim Rinker):  Complete paint preparation on the nose panel.  Apply first color coat of Custom Ruby Red paint.  Sand hood to remove rock chips.  Prepare hood and front bumper for color coat.					
Eurton Electric - Convert the electric sunroof motor to 12 volts. \$477.62					
Aircraft Windshield - Duplicate the quarter windows. See Parts section.					

Bruce Crawford - Repair and refinish the delaminated steering wheel.

Found additional hardtop metal trim pieces that are heavily rusted.

Need to be restored or have new ones fabricated. The pieces will be evaluated

Sherms Plating - Chrome latches. See Parts Section.

by Gretener Prototype Engineering for repair/fabrication.

Invoice No.: 1749 Date: 26-May-2021

Waiting for appointment with Autos International for headliner and trim.

Travel expenses (food, lodging, transportation, parking, etc.) to various vendors. \$0.00

## **Recommendations and Technicians Notes**

The hard top with the electric sun roof is in very bad shape with heavily rusted hard top frame and reails. It requires extensive repairs and restoration.

Autos International will be doing the hardtop's headliner and interior trim.

#### **Sub Totals**

Parts	\$1,104.10
Sales Tax @ 9.25%	\$102.13
Labor	\$0.00
Sublet	\$3,727.62
Shipping	\$0.00
CA Environmental Fees	\$0.00

Total Amount \$4,933.85

Page 1 of 2 Invoice No.: 1754 Date: 14-June-2021

1964 Porsche 356C Carrera 2 Cab

VIN: 159548 LIC: N/A

#### **INVOICE**

LABOR				Amount	
See Sublet section.				\$0.00	
PARTS					
Item	Part Number	Qty	Price	Total	Shipping
2 Post Fuse Box, Rear Turn Buckles & Clothes Hooks	Stoddard	1	\$101.38	\$101.38	
Paint Materials: Undercoat, Semi-black Paint, Custom Red La PPG medium and slow thinners (by special order)	Materials acquer,	1	\$524.72	\$524.72	
Sublet and Labor Charges				Total	Shipping

Body repair / correction on nose section of vehicle. Reutter Hardtop repair / correction / restoration.

RinkerToys (Jim Rinker):

Complete all final preparations to paint the nose, bumper and hood of \$3,960.00 the vehicle.

Seal and apply paint.

Sand and buff appropriately.

Clean the front undercarriage for undercoat and paint.

Apply undercoat and semi-black paint as needed.

Found additional hardtop metal trim pieces that are heavily rusted. Need to be restored or have new ones fabricated. The pieces will be evaluated by Gretener Prototype Engineering for repair/fabrication.

Waiting for appointment with Autos International for headliner and trim.

Travel expenses (food, lodging, transportation, parking, etc.) to various vendors. \$0.00

Invoice No.: 1754 Date: 14-Jun-20221

#### **Recommendations and Technicians Notes**

The hard top with the electric sun roof is in very bad shape with heavily rusted hard top frame and reails. It requires extensive repairs and restoration. Autos International will be doing the hardtop's headliner and interior trim.

#### **Sub Totals**

Parts	\$626.10
Sales Tax @ 9.25%	\$57.91
Labor	\$0.00
Sublet	\$3,960.00
Shipping	\$0.00
CA Environmental Fees	\$0.00

Total Amount \$4,644.01

Page 1 of 2 Invoice No.: 1759 Date: 30-June-2021

1964 Porsche 356C Carrera 2 Cab

VIN: 159548 LIC: N/A

#### **INVOICE**

**LABOR** Amount

See Sublet section. \$0.00

**PARTS** 

ItemPart NumberQtyPriceTotalShippingShipping trim pieces to GPEFreight1\$122.43\$122.43

with oversize box.

Sublet and Labor Charges Total Shipping

Body repair / correction on nose section of vehicle. Reutter Hardtop repair / correction / restoration.

RinkerToys (Jim Rinker):

Reinstall oil coolers and horns. \$2,760.00

Reinstall all connections and wiring.

Install headlights and turn indicators along with lower grills.

Re-glue and install hood seal/gasket.

Install sunroof motor and wiring harness in hard top.

Re-adjst rear lid and touch up paint.

Polish aluminum sunroof tracks.

Found additional hardtop metal trim pieces that are heavily rusted.

Need to be restored or have new ones fabricated. The pieces will be evaluated by Gretener Prototype Engineering for repair/fabrication.

Send interior trim parts to Urs for evaluation.

Urs Gretener determined the best approach is to fabricate new pieces.

Waiting for appointment with Autos International for headliner and trim.

Travel expenses (food, lodging, transportation, parking, etc.) to various vendors. \$0.00

Invoice No.: 1759 Date: 30-Jun-20221

#### **Recommendations and Technicians Notes**

The hard top with the electric sun roof is in very bad shape with heavily rusted hard top frame and reails. It requires extensive repairs and restoration. Autos International will be doing the hardtop's headliner and interior trim.

#### **Sub Totals**

Parts	\$122.43
Sales Tax @ 9.25%	\$11.32
Labor	\$0.00
Sublet	\$2,760.00
Shipping	\$0.00
CA Environmental Fees	\$0.00

Total Amount \$2,893.75

Page 1 of 2 Invoice No.: 1782 Date: 1-Oct-2021

1964 Porsche 356C Carrera 2 Cab

VIN: 159548 LIC: N/A

#### **INVOICE**

LABOR	Amount
See Sublet section.	\$0.00

## **PARTS**

Item	Part Number	Qty	Price	Total	Shipping
Sheet Steel, 20 gauge Shipping trim pieces to Jim Rinker with oversize box.	Sheet Steel Freight	1 1	\$62.00 \$236.00	\$62.00 \$236.00	

# Sublet and Labor Charges Total Shipping

Body repair / correction on nose section of vehicle. Reutter Hardtop repair / correction / restoration.

Gretener Prototype Engineering:

Porsche Carrera 2 Cabriolet Hardtop Trim Kit

Fabricated left and right side trim kit for hardtop \$3,408.00

per received sample.

Fabricated left and right inner soft top side covers

per received sample.

Package and ship finished pieces to Jim Rinker.

Auto International will trim the pieces.

Travel expenses - Food, lodging, transportation, parking, etc. to vendors. \$0.00

#### **Recommendations and Technicians Notes**

The hard top with the electric sun roof is in very bad shape with heavily rusted hard top frame and reails. It requires extensive repairs and restoration.

Autos International will be doing the hardtop's headliner and interior trim.

Page 2 of 2
Invoice No.: 1782

Date: 1-Oct-2021

# **Sub Totals**

Parts	\$298.00
Sales Tax @ 9.375%	\$27.94
Labor	\$0.00
Sublet	\$3,408.00
Shipping	\$0.00
CA Environmental Fees	\$0.00

Total Amount \$3,733.94

Page 1 of 2 Invoice No.: 1791 Date: 22-Oct-2021

1964 Porsche 356C Carrera 2 Cab

VIN: 159548 LIC: N/A

#### **INVOICE**

LABOR Amount
See Sublet section. \$0.00

#### **PARTS**

Item	Part Number	Qty	Price	Total	Shipping
Stoddard - Hood Handle, Top Seal, Badge, Glass Molding Connectors		1	\$338.76	\$338.76	
Glass Seals - International Mercantile		1	\$393.00	\$393.00	
German Bumper Decos - Porsche San Diego		1	\$471.78	\$471.78	
Sunroof Switch - Used		1	\$500.00	\$500.00	
Fabricate Sunroof, Switch & Motor	Wiring	1	\$420.00	\$420.00	
Headliner - Auto International		1	\$536.08	\$536.08	

# Sublet and Labor Charges Total Shipping

Body repair / correction on nose section of vehicle. Reutter Hardtop repair / correction / restoration.

RinkerToys (Jim Rinker):

After final paint detail and assembly of bumper with German deco strips, \$3,360.00 mounting of hood and front bumper is complete.

Install replacement hood handle.

Deliver vehicle with hard top to Autos International for adjustment of rear carpet and headliner.

Create and install point to point wiring for sunroof switch and motor.

Clean and lubricate sliding roof cables and tracks.

Travel expenses (food, lodging, transportation, parking, etc.) to vendors. \$0.00

#### **Recommendations and Technicians Notes**

The hard top with the electric sun roof is in very bad shape with heavily rusted hard top frame and reails. It requires extensive repairs and restoration. Autos International will be doing the hardtop's headliner and interior trim.

Page 2 of 2 Date: 22-Oct-2021

Invoice No.: 1791 Date: 22-Oct-2021

**Sub Totals** 

Parts	\$2,659.62
Sales Tax @ 9.375%	\$249.34
Labor	\$0.00
Sublet	\$3,360.00
Shipping	\$0.00
CA Environmental Fees	\$0.00

Total Amount \$6,268.96

Page 1 of 2 Invoice No.: 1796 Date: 12-Nov-2021

1964 Porsche 356C Carrera 2 Cab

\$0.00

VIN: 159548 LIC: N/A

# **INVOICE**

<b>LABOR</b> Amount					
See Sublet section.				\$0.00	
PARTS					
Item	Part Number	Qty	Price	Total	Shipping
Sunroof Seal - Fabricate	Fabricate	1	\$100.00	\$100.00	
Sublet and Labor Charges				Total	Shipping
Body repair / correction on nose section of vehicle. Reutter Hardtop repair / correction / restoration.					
RinkerToys (Jim Rinker):  Disassemble sunroof gear box cleaning.  Lubricate sunroof gear box and perform clutch disc adjustment.  Desing, fabricate and install sunroof seal.  Make adjustments for fitment of interior trim pieces.  Install rubber seals, latches, rear glass quarter windows and base seal with molding.			\$3,260.00		
Auto International: installation and adjustment of hard top headliner, interior trim pieces and rear carpet repair.			nd	\$1,000.00	
The vehicle will be brought back to Gretener Prototype Engineering to finalize some interior metal trim pieces and then sent to Autos International to trim with leather.					

Travel expenses (food, lodging, transportation, parking, etc.) to various vendors.

Page 2 of 2 Date: 12-Nov-2021 Invoice No.: 1796

# **Recommendations and Technicians Notes**

N/A

# **Sub Totals**

Parts	\$100.00
Sales Tax @ 9.375%	\$9.38
Labor	\$0.00
Sublet	\$4,260.00
Shipping	\$0.00
CA Environmental Fees	\$0.00

\$4,369.38 **Total Amount** 

Page 1 of 2 Invoice No.: 1965 Date: 7-Aug-2023

1964 Porsche 356C Carrera 2 Cab

VIN: 159548 LIC: N/A

#### **INVOICE**

**LABOR** Amount

See Sublet section. \$0.00

## **PARTS**

Item	Part Number	Qty	Price	Total	Shipping
Main Jet - Weber IDF	73.401.135	4	\$5.15	\$20.60	
Main Jet - Weber IDF	73.401.140	4	\$5.15	\$20.60	
Solid Pump Diaphragm - Red	47.407.207	4	\$9.38	\$37.52	
Brake Fluid	ATE	2	\$8.95	\$17.90	
Pengrade 20W50 Engine Oil	BP20W50	8.5	\$16.95	\$144.08	
Original 1963 Porsche 356C Drive	ers Manual	1	\$269.00	\$269.00	
Freight	Freight	1	\$3.92	\$3.92	
356 Original Reutter Leather Key	Fob	1	\$25.00	\$25.00	
19mm Aluminum Soft Lug Nut Socket		1	\$47.00	\$47.00	
356 Reutter Certificate of Delivery		1	\$20.00	\$20.00	
Porsche Shop Tower - Pack of 5		1	\$34.00	\$34.00	
Freight	Freight	1	\$54.00	\$54.00	

## Sublet and Labor Charges Total Shipping

Vehicle does not run well under acceleration. Inspect vehicle and perform a service.

**Great Marques:** 

Change engine oil and clean oil filter.

Inspect brakes & flush brake fluild.

Check lights - ok.

Set tire pressures to spec.

No power under acceleration - Carburetion problem.

Replace the accelerator pump diaphragms.

The vehicle drove marginally better, but still not right under acceleration.

Replaced the 130 main jets with 135 main jets.

The vehicle drove much better under acceleration.

\$800.00

Invoice No.: 1965 Date: 7-Aug-2023

Environmental Charges \$8.50

Travel expenses - (food, lodging, transportation, parking, etc.) to vendors. \$0.00

# **Recommendations and Technicians Notes**

Recommend trying the 140 size main jets.

## **Sub Totals**

Parts	\$693.62
Sales Tax	\$65.03
Labor	\$0.00
Sublet	\$808.50
Shipping	\$0.00

Total Amount \$1,567.15